AF 3410 H

HAAmSOE RS PR

O X THFBT



1 C:)
1. AEZEERAS WP F BN EE S K AR SRR
2. Wi HEHH HEHE KR
3. f LERT (B) KR 17H45m /E
(FE) RWR #E™ Rk
(H)
[€D)
(5)
(E)
(5)
(=)
(5)
E)
4. HELHE ERMERRET AR 7.8 km
BEEER G AR SRR 1.75km
Bty TE%EE FRMXIMERK 4 6 #
X & iE 8 Kt
5. # H Sf 34 9H 22H ~ E 4&f 4F 9H 16H ( 360H[H)



M R P- 1 H
WEGEBA | SHBI B o M AR R 3
T & - 4 A B B {7 = &  FE I
ARG
AAEERE = 1 9, 648, 240
T Hh Ay = 1
e e R O EERR A km 1.06
THERF R OXEER A1l km 6.19
THERF R OXEESR B 1 km 0.55
Vi M O EER  C ¥ 3
THERF R OXEER C1 K 1
THERRF R OXEER C 2 4 8
Vrmak et M O mEfER  C 3 & 1
HEWTIXIERY A km 1.06
HEWTIXIERY B km 6.74
HEWTEYERE  C km 1.75
TEVEREMTIXI(ERL A K 5
ﬁ@ﬁmlﬁw B ¥ 3
R AERK km 1.06
FomFRAERR A1 km 6.19
PEFRIER B1 km 0.55
$mRIER C km 1.75
By T %5
Bt T35 2 ES 1 4, 618, 250
3% L 3T A b o
Bt TR B 4 14
B T 3% 2 C He 3
B TRk aEt XER D e 10
Bty TR% #ﬁlﬁm E 54 6
TEE5 7R X i AR,
TR X VR R = 1 133, 480
TERERAKEER KEEE Al ¥ 8
THERE A RmER  ERgtE K 8
TR ERER
TR B R FAERR = 1 642, 915
TR AR R FAER T % H RS siafhiF km 9.55
T R FAERK = 1 126, 638
+?$%&%ﬁ%§¢ﬁ TR B Bl F= R Ak T 1
PXD T III
PGk di=mcn = 1 759, 300
REHTEE = 1
HIRSERS - EEERE
BN ERS - [HHARE = 1 362, 410
T E R AR EE A AR [XE e ES 1
TE s HKmER  FERME R et s = 1
At - B - 1EIAE = 1




MOE N R & P- 2 H

WEGEBA | SHBI B o M AR R 3
™ M - 4 Boo- A H B ¥R &  FE i
Z Ot = 1 8,577, 058
— R S = 1 13, 381, 709

&t = 1 38, 250, 000




